
 
 
 
 

MO  SEIRES  LLAMS  YTICAPAC  LAVO(  RAEG  )SRETEM  
ehT  ®CEMOLF  MO  llamS  yticapaC  lavO  raeG  sreteM  ha ev  a 

egral  lf ow egnar  dna  reffo  eht  ytiliba  ot  eldnah  a ediw  egnar  fo  diulf  
seitisocsiv  htiw  lanoitpecxe  slevel  fo  .ytilibataeper  

SERUTAEF  / STIFENEB  
• hgiH  ycarucca  dna  ,ytilibataeper  tcerid  cirtemulov  gnidaer  
• serusaeM  hgih  dna  low ytisocsiv  sdiuqil  
• oN  tnemeriuqer  rof  lf ow gninoitidnoc  thgiarts(  epip  )snur  
• sselniatS  leetS  srotor  lanoitpO(  SPP  rotor  rof  800MO  retem  )ylno  
• auQ rd a erut  eslup  tuptuo  noitpo  dna  ib - lanoitcerid  lf ow 
• lanoitpO  dxE  BII/I  a lavorpp  ,XETA(  )xECEI  
• ylnO  owt  gnivom  strap  

 
1 

__  = nibmoC a noit  deeR  hctiwS  dna  llaH  tceffE  rosneS  
SS = sselniatS  leetS  lanimret  revoc  
RS = deeR  hctiwS  ylno  - ot  tius  cisnirtnI ylla  efas  llatsni a snoit  

1E  = noisolpxE  foorp  dxE  BII  3T ... 6T  munimulA(  & sselniatS  leetS  
)sretem  xECEI[  & XETA  a ]devorpp  

2E  = noisolpxE  foorp  dxE  BII/I  3T ... 6T  sselniatS(  leetS  sretem  )ylno  
xECEI[  & XETA  senim  a ]devorpp  

QP = rdauQ a erut  eslup  2(  NPN  desahp  )stuptuo  
1Q  = noisolpxE  foorp  ~ dxE  htiw(  rdauq a erut  )eslup  xECEI[  & XETA  

a ]devorpp  
RH  = hgiH  noituloseR  llaH  tceffE  tuptuo  400(  – 600  )ylno  

H1 = noisolpxE  foorp  ~ dxE  htiw  RH  iH - seR . llaH  noitpo  400( - 600   )ylno
R3 = 21TR  yllacisnirtnI  efaS  ra et  rezilatot  htiw  lla  stuptuo  NRG(  

)gnisuoH  xECEI[  & XETA  a #*]devorpp  
3R G = 21TR  yllacisnirtnI  efaS  ra et  rezilatot  htiw  lla  stuptuo  NRG(  

)gnisuoH  xECEI[  & XETA  ]devorppa  htiw(  snollag  rbilac a #*)noit  
R4 = 04TR  ra et  rezilatot  htiw  tilkcab  egral  tigid  DCL  llA( oy sgnisuoh  

htiw  #*)aicaf  
4R G = 04TR  ra et  rezilatot  htiw  tilkcab  egral  tigid  DCL  llA( oy suoh - 

sgni  htiw  )aicaf  htiw(  snollag  rbilac a #*)noit  
5R  = 41TR  tilkcab  ra et  rezilatot  htiw  lla  stuptuo  NRG(  #*)gnisuoH  
G5R  = 41TR  tilkcab  ra et  rezilatot  htiw  lla  stuptuo  NRG(  suoH )gni  

htiw(  snollag  rbilac a #*)noit  
0E  = 01BE  ba hct  rellortnoc  2[  ts a eg  CD  ba rehct  & ]rezilatot  NRG(  

#*)gnisuoH  
0E G = 01BE  ba hct  rellortnoc  2[  ts a eg  CD  ba rehct  & ]rezilatot  htiw(  

snollag  rbilac a )noit  NRG(  #*)gnisuoH  
1E 8 = 810E  tilkcab  ,tot/etar  ,eslup  4- m02 ,A  01  tniop  ,noitaziraenil  

,TRAH  muinimula  ob dy xECEI[  & XETA  a #]devorpp  
1E 9 = 810E  tilkcab  ,tot/etar  ,eslup  4- ,Am02  01  tniop  ,noitaziraenil  

,TRAH  sselniats  leets  ob dy xECEI[  & XETA  a #]devorpp  
1F 8 = 810F  tilkcab  ,tot/etar  ,eslup  4- ,Am02  01  tniop  aziraenil ,noit  

AH R #T  
1F 9 = 810F  tilkcab  ,tot/etar  ,eslup  4- ,Am02  01  tniop  ziraenil a ,noit  

,TRAH  yllacisnirtnI  #efas  xECEI[  & XETA  a ]devorpp  
3F 1 = yllacisnirtnI  efas  031F  2 ts a eg  ba hct  #rellortnoc  xECEI[  & 

XETA  a ]devorpp  
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M YDOB A LAIRET  
A munimulA =  

A 
8 

3 

S = 613  sselniatS  leetS  
N = idemretnI a et  erusserP  L613  SS  0541(  ISP  / 001  )rab  

RETEM  EZIS  2 
00 4 = "8/1  4(  ,)mm  62.0 - 5.9  HPG  0.1( - 63  )rh/L  
00 6 = "4/1  6(  ,)mm  5.0 - 72  HPG  2( - 001  )rh/L  
00 8 = "8/3  8(  ,)mm  4- 541  HPG  51( - 055  )rh/L  

TCUDORP  REIFITNEDI  
MO  = lavO  raeG  reteM  

4 5 6 7 
51 2 -8 2 

TCUDORP  RUGIFNOC A NOIT  

3 9 
5R  1 

9 LARGETNI  SNOITPO  

5 O- GNIR  MA LAIRET  
1 = MKF  )™notiV(  - º5  F muminim  (- º51  )C  
3 = EFTP  cne a lusp a det  MKF  )™notiV(  - º5  F muminim  (- º51  )C  
4 = anuB -N ,)elirtiN(  - º04  F muminim  (- º04  )C  

MUMIXAM  REPMET A ERUT  TIMIL  6 
-2 = º052  F º021(  )C  .xam  
-3 = º003  F º051(  )C  xam . llaH(  edulcnI()tceffE s sselniatS  leetS  

lanimret  )revoc  
-5 = º052  F º021(  )C  xam . sedulcni(  largetni  gnilooc  )nif  
-8 = º671  F º08(  )C  xam . sretem(  htiw  largetni  ,stnemurtsni  800MO  

htiw  SPP  )srotor  

4 M ROTOR A LAIRET  / GNIRAEB  EPYT  
00 = SPP  toN(  a elbaliav  rof  º003  F º051(  )C  em )sret  / oN  gniraeb  

elbaliavA(  rof  800MO  )ylno  
51 = sselniatS  leetS  / nobraC  cimareC  dradnatS(  no  400MO  & 

,600MO  lanoitpo  rof  )800MO  
71 = ihsieK  tuc  sselniatS  leetS  roF(  hgih  ytisocsiv  )sdiuqil  / nobraC  

cimareC  elbaliavA(  rof  800MO  )ylno  

7 SSECORP  TCENNOC SNOI  
1 = PPSB  )G(  elamef  dedaerht  OSI(   )822 2 
= TPN  elamef  dedaerht  
B = mottoB  tne ry dlofinam  SS(  ob dy )ylno  

ELBAC  SEIRTNE  8 
1 = 02M  x 5.1  mm  61M(  x 5.1  mm  rof  4R  )snoitpo  
2 = "2/1  TPN  
6 = 3 x mm61  dellird  seloh  rof(  F stnemurtsni  )ylno  

 
 

pmeT*  edoc  5 qer deriu  rof  largetni  stnemurtsni  neewteb  Fo671  )Co08(  & Fo052   )Co021(
pmeT#  edoc  8 deriuqer  rof  largetni  stnemurtsni  leb ow Fo671  )Co08(  



 
 

00MO 4 00MO 6 800MO  

 
 

nollag / sesluP  sesluP(  / )L  - lanimoN  
 

00601  )0082(  5793  )0501(  )553( 5431  

00601  )0082(  5793  )0501(  )017( 0962  

 
00601  )0082(  5793  )0501(  )017( 0962  

 
 

00424  )00211(  00951  )0024(  a/n  

 
V03  )cd(  x Am002  xam . umixam[ m lamreht  kcohs  o81  F 

)C o01(  / ]etunim  
 

3 iw re nepo  otcelloc r, 5- V42  d( c) ,.xam  Am02  .xam  

4- ,Am02  delacs  ,eslup  erutardauq  ,eslup  wolf  smrala  ro  
owt  egats  hctab  tnoc r lo  

mumixaM*  wolf  si  ot  eb  decuder  sa  ytisocsiv  ,sesaercni  ees  lf ow ed -ra gnit  
ediug . xaM  r dednemmoce  erusserp  pord  si  5.41  isp  1(  .)rab  
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SNOISNEMID  

NOITPO  
01BE  / R 21T  / R 41T  
NRG  GNISUOH  

 
04TR  

 
REVOC  

 
llA*  snoisnemid  era  ± ”970.  )mm2±(  

 
 
 

ILPPA CA SNOIT  
• sliO  • sessaloM  

• leuF  • naelC  sdiulF  

• leseiD  • liO leuF C reknuB  

• kcurT  gnireteM  • liO - desaB  stniaP  

• lacimehC  evitiddA  noitcejnI  • lairtsudnI  sdiulF  

• gnihctaB  • lacimehC  deeF  seniL  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

R 4T 0 REVOC  

:800MO  "8/5  61(  )mm  
400MO  & :600MO  "61/7  5.21(  )mm  

 
 
 
 

C 

SLAVORPPA  
 

76/66PI  

"6.3  "6.3  "9.3  "8.2  
29(  )mm  9( 2 )mm  99(  )mm  27(  )mm  

IFICEPS CA SNOIT  
 

:lacirtcelE  
tuptuO  

esluP  
:noituloseR  

deeR  hctiwS  

llaH  Ef tcef  

PQ  -
erutardauQ  

llaH  noitpo  
RH  - hgiH  

noituloseR  
llaH  Ef tcef  

deeR  hctiwS  
tuptuO  

llaH  Ef tcef  
tuptuO  )NPN(  

lanoitpO  
stuptuO  

 400MO  600MO  800MO  
lanimoN  

:eziS  
"8/1  

4(  )mm  
"4/1  

6(  )mm  
"8/3  

8(  )mm  

*wolF  
:egnaR  

62.0 - 5.9  HPG  
0.1( - 63  )rh/L  

5.0 - 72  HPG  
2( - 001  )rh/L  

4- 541  HPG  
51( - 055  )rh/L  

ycaruccA + @ 
:pc3  

± %0.1  fo  gnidaer  ycarucca(  si  ± %2.0  fo  gnidaer  htiw  
lanoitpo  41TR  htiw  non - ytiraenil  roc r )noitce  

ytilibataepeR : T yllacipy  ± %30.0  fo  r gnidae  

T erutarepme  
:egnaR  - °04  F ot  °003+  F (- °04  C ot  °051+  )C  

Pr usse re gnitaR  hT( r dedae  :)reteM  

munimulA  022  isp  51(  )rab  

613  
sselniatS  

leetS  

 
594  isp  43(  )rab  

etaidemretnI  
Pr usse re 

sselniatS  
leetS  

 
1 054  isp  (1 00  )rab  

moceR -
dednem  

:noitartliF  

 
002  hsem  57(  )mµ  

B 
00MO 4 00MO 6 800MO  
"8.4  "8.4  "0.5  

221(  )mm  221(  )mm  921(  )mm  
"9.4  "9.4  "2.5  

521(  )mm  521(  )mm  231(  )mm  

C 
— 

"9.4  
421(  )mm  

"8.3  
69(  )mm  

nehW  desu  ot  retem  ra ,et  ta  ev ry wol  wolf  ra ,set  eht  ra et  nac  ,pmuj  eud  ot  
oser noitul  ton(  .)ycarucca  

 
EB 01  / 21TR  / 41TR  

NRG  UOH SI GN  
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”86.2  86(  )mm  

 
 

”79.1  
05(  )mm  

 
GNITNUOM  
TNIRPTOOF  


